1960 GeV ppbar

Top (parton level)
N R B A

Rivet 3.1.10, = 3.1M events

= | I L
— AQ (ttbar) (dy < 0) —
2 | |
10° E= —A— Pythia 6.428 370 =
— - Pythia 6.428 373 =
--0-- Pythia 6.428 374 —
= Pythia 6.428 375 'Y
10 — ---&-- Pythia 6.428 381 i
— --¥-- Pythia 6.428 382 -
1 =
107t & =
e -
102 — (MC_FBA_TTBAR) ]
= T U O U U SO R
2 B =
o — _
I~
= - 7
© - ]
AN
! B A, e B
g 1 ‘\- ~ =0 wf Yy A ¥y i - @ E-V.o ¥ o o = 1
g - © 7 y
S B i
o - -
i
m — p—
05 _
| " 1 1 " 1 1 | " 1 1 1 1 " | " 1 1 1 1 " | "
0 1 2 3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


